A B 15

BfE B - 5 F1014£08 H04H SE—HYA FHhY)—H5T
B | K % R OUT | IN | GR | HDCP | NET ikl BRI | K &2 i OUT | IN | GR | HDCP | NET ikl
2R |t R 42 | 37| 79| 16.7 | 62.3 |AE 51 |@ 1&&k 45 | 43 | 88 | 14.5 | 73.5
#E | ZIE —E 39 | 41| 80 | 15.5 | 64.5 |AE 52 | KE 48 | 43 | 91 | 17.3 | 13.7
3 B0 M= 40 | 41 | 81 | 16.1 | 64.9 |AE 53 |#7H HE= 44 | 41 | 8 | 11.3 | 73.7
4 \FH EME 40 | 44 | 84 | 18.5 | 65.5 |AE 54 ' R 45 | 41| 86 | 12.0 | 74.0
5 |&HR f# 43 | 42 | 85| 19.1 | 65.9 |AE 5 | ERXK BE 39 | 36 | 75 1.0 | 74.0
6 A0 S 41 | 46 | 87 | 20.7 | 66.3 |AE 56 |HHE FiA 45 | 42 | 87 | 13.0 | 74.0
T |BGE — 48 | 47 | 95| 27.9 | 67.1 |AE 57 |&# B— 55 | 55 [ 110 | 36.0 | 74.0
8 @M ZE 35| 39| 74| 6.9 | 67.1 58 |pHE =dl 40 | 45| 85 | 11.0 | 74.0
9 |BX FiE 46 | 42 | 88 | 20.4 | 67.6 59 |#8k HHx 44 | 50 | 94 | 20.0 | 74.0
10 |HFA EXE 41 | 43 | 84 | 16.4 | 67.6 60 |[HH 2 39 | 44 | 83 8.8 | 74.2
11 0 ®5 47 | 45| 92 | 23.9 | 68.1 61 |AiE HE 53 | 51 [104 | 29.7 | 74.3
12 |83 F&sh 38 | 33| T 2.7 68.3 62 X5 R®A 48 | 47 | 95 | 20.7 | 74.3
13 |#&A X4 40 | 43 | 83 | 14.7 | 68.3 63 |HE X7 48 | 47 | 95 | 20.6 | 74.4
14 % =B 46 | 46 | 92 | 23.4 | 68.6 64 X% KT 43 | 45| 88 | 13.6 | 74.4
15 |E&F #%X 39 | 41| 80| 11.4 | 68.6 65 |tHE EFF 48 | 51 | 99 | 24.6 | 74.4
16 2L H#iE 41| 36 | 77| 8.3 | 68.7 66 Bl = 46 | 50 | 96 | 21.6 | 74.4
17 |HFH Bz 40 | 39 | 79 | 10.3 | 68.7 67 |flE  FH 42 | 43 | 8 | 10.5 | 74.5
18 |E& Iz 47 | 47 | 94 | 25.0 | 69.0 68 |fFEE E35h 46 | 47 | 93 | 18.5 | 74.5
19 |0 E= 45 | 47 | 92 | 23.0 | 69.0 69 |F& R— 47 | 48 | 95 | 20.5 | 74.5
20 B =% 38 | 39 | 77 7.9 | 69.1 70 |seBE & 55 | 53 | 108 | 33.4 | 74.6
21 [IITF % 46 | 49 | 95 | 25.7 | 69.3 g gz 44 | 43 | 87 | 12.4 | 74.6
22 |l ek 42 | 43 | 85 | 15.3 | 69.7 72 |KEE ZF 47 | 48 | 95 | 20.4 | 74.6
23 |lLA =R§A 39| 36| 75| 5.1 | 69.9 13 |F #E1T 43 | 47 | 90 | 15.4 | 74.6
24 |51 &2z 43 | 43 | 86 | 15.8 | 70.2 14 |WE 8K 42 | 44 | 86 | 11.2 | 74.8
25 EH R 46 | 47 | 93 | 22.6 | 70.4 75 |#E  #ERR 49 | 52 | 101 | 26.1 | 74.9
26 |JIE BEX 46 | 46 | 92 | 21.4 | 70.6 16 B 5B 46 | 47 | 93 | 18.0 | 75.0
27 &0 X 41 | 43 | 84 | 13.4 | 70.6 77 | X B 43 | 46 | 89 | 14.0 | 75.0
28 |IUKX FEF 43 | 50 | 98 | 27.2 | 70.8 18 |[EE # 41 | 49 | 90 | 14.9 | 75.1
29 [R&HN ORZ= 39 | 35| 74 3.1 170.9 9 9% mA 48 | 55 | 103 | 27.7 | 75.3
30 %@ F 37| 39 76 | 5.1 70.9 80 |FE[E HA 39 | 44 | 83 7.6 | 75.4
31 |F&F A 43 | 44 | 87 | 16.0 | 71.0 81 |ximA F— 45 | 43 | 88 | 12.5 | 75.5
32 |KE BE 46 | 51 | 97 | 26.0 | 71.0 82 & =5 46 | 44 | 90 | 14.3 | 75.7
33 |priE A0fE 39 | 39| 78 6.9 | 71.1 83 BN FEA 44 | 46 | 90 | 14.2 | 75.8
34 |HlR FE 50 | 44 | 94| 22.8 | 71.2 84 =% =ER 41 | 49 | 90 | 14.2 | 75.8
35 &L fEE 43 | 45| 88 | 16.8 | 71.2 85 |fkEE F— 50 | 47 | 97 | 21.1 | 75.9
36 A BuE 49 | 46 | 95 | 23.6 | 71.4 86 |EH IEE 44 | 45| 89 | 13.1 | 75.9
31 Ik B 41 | 43 | 84 | 12.6 | 71.4 87 |&mh EF 49 | 50 | 99 | 22.7 | 76.3
38 | KW = 41 | 42 | 83 | 10.9 | 72.1 88 |EEHF EHx 45 | 51 | 96 | 19.6 | 76.4
39 AR B 44 | 46 | 90 | 17.7 | 72.3 89 |EM X 48 | 44 | 92 | 15.5 | 76.5
40 =E B— 41 | 40 | 81 8.6 | 72.4 90 |l FEH 50 | 46 | 96 | 19.5 | 76.5
41 | f#x 41 | 45| 86 | 13.5 | 72.5 91 BB BHEt 44 | 44 | 88 | 11.5 | 76.5
42 |%¥F &% 43 | 40 | 83 | 10.4 | 72.6 92 [#E FiEF 41 | 43| 84 | 1.5 ] 76.5
3 |BEt+H B 41 | 45| 86 | 13.4 | 72.6 93 |&HE HAI 49 | 47 | 96 | 19.4 | 76.6
44 )il sh=E 43 | 41 | 84 | 11.3 | 72.7 94 |FEE WF 40 | 41 | 81 4.4 | 76.6
45 Bl =E 45 | 42 | 87 | 14.2 | 72.8 95 &L REF 51 | 44 ] 95| 18.3 | 76.7
46 EH & 45 | 40 | 85 | 12.1 | 72.9 96 |FRIF IEZ 49 | 46 | 95 | 18.3 | 76.7
47 |& #HEY 41 | 44 | 85 | 12.1 | 72.9 97 |FHR FH 46 | 47 | 93 | 16.1 | 76.9
48 EH == 44 | 46 | 90 | 17.0 | 73.0 98 |=If HEF 53 | 49 [102 | 25.0 | 77.0
49 | 1#% 43 | 49 | 92 | 18.8 | 73.2 9 |FE FIB 52 | 49 |101 | 24.0 | 77.0
50 |fEIF fEiE 51 | 41 ] 92 | 18.5 | 73.5 100 | R& #= 45 | 50 | 95 | 17.9 | 77.1

mEAE HDCP EBXIERZ:vyFH9Ra7 (A4 UNET)




A B 2H

BifE B £ F1014£08 5048 FEE—HYAFhoY)—H 5T
Btz | K & B OUT | IN | GR | HDCP | NET w% Btz | K 4 B OUT | IN | GR | HDCP | NET &5
= 45 | 42 | 87| 9.8 77.2 g E— 43 | 43 | 86 AB AL
102 |#% = 43 | 42 | 85| 1.8 71.2 #k Bh— 48 | 45 | 93 AB AL
103 BB %=X 49 | 56 [ 105 | 27.7 | 77.3 FE B 50 | 49 | 99 AB AL
104 RO *#= 50 | 49 | 99 | 21.5 | 71.5 AT #H—8 46 | 44 | 90 AB AL
105 |ILE H— 46 | 44 | 90 | 12.4 | 77.6 BR  F 43 | 47 | 90 AB AL
106 | =€ X 41 | 51| 92| 14.2 | 71.8
107 |EH #HF 42 | 50 | 92 | 14.0 | 78.0
108 |=% &= 45 | 46 | 91 | 12.9 | 78.1
109 |[Ad &= 44 | 49 | 93 | 14.9 | 78.1
110 |/hee 2 41 | 42 | 83| 4.8 78.2
111 | % IEBH 54 | 51 | 105 | 26.6 | 78.4
112 |dt8  HKEB 42 | 47 | 89 | 10.6 | 78.4
113 |[§% LKE 45 | 51 | 96 | 17.4 | 78.6
114 |& &4 45 | 50 | 95| 16.3 | 78.7
115 (M5 &3 41 | 48 | 89 | 10.3 | 78.7
116 |HK 42 | 53 | 95| 16.1 | 78.9
17 |58 R4E 61 | 58 | 119 | 40.0 | 79.0
118 |k ZHA 41 | 51 ] 92| 12.9 | 79.1
119 | Ml 4 50 | 41 | 91 | 11.1 | 79.9
120 | =& B@— 45 | 44 | 89 | 8.5 80.5
121 |FRE  #KEB 44 | 48 | 92 | 11.5 | 80.5
122 |#E ZEH 51 | 51 [102 | 20.7 | 81.3
123 |3%) &A 46 | 47 | 93 | 11.5 | 81.5
124 |5E 48 | 50 | 98 | 16.3 | 81.7
125 /INMIL 15— 45 | 50 | 95| 13.0 | 82.0
126 |ILE < &F 51 | 50 | 101 | 18.9 | 82.1
127 | KT EH 49 | 52 | 101 | 18.8 | 82.2
128 |Rk #A 44 | 50 | 94 | 11.7 | 82.3
129 |[R% ZA 45 | 52 | 97 | 14.7 | 82.3
130 |/MLE  EF 52 | 49 | 101 | 18.5 | 82.5
131 |thE IE— 49 | 53 [ 102 | 19.4 | 82.6
132 |BaE HEF 59 | 57 [ 116 | 31.5 | 84.5
133 |RI§ HEHTF 60 | 52 | 112 | 27.0 | 85.0
134 |EE BAF 53 | 61 | 114 | 29.0 | 85.0
135 |=/&  HA| 56 | 56 | 112 | 26.6 | 85.4
136 |#R k5 53 | 51 [ 104 | 17.4 | 86.6
137 |E8 =i 57 | 57 [ 114 | 26.1 | 87.9
138 |80 B 50 | 53 | 103 | 14.9 | 88.1
139 |5 #h 56 | 54 | 110 | 21.0 | 89.0
140 0O #— 46 | 44 | 90 | 0.0 | 90.0
141 &L ME 51 | 52 [103 | 12.5 | 90.5
142 \#)Il EA 55 | 45 | 100 | 0.0 |100.0
T % 41 | 43| 84 AHEHLEL
K X 44 | 44 | 88 AEEBEL
BHE Bx 40 | 38| 78 AEEBEL
T 45 | 52 | 97 AEEBEL
B/E Rz 36 | 41| 77 AEEBEL
% FH 46 | 45 | 91 AHEHLEL
TE #E 48 | 45 | 93 AEEBEL
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